 Ответы к 1 варианту (для учителя)
 Задание 1 № тип 1 (решено неверно или не решено)
Перед Вами 5 предложений A — E с пропусками и варианты слов или словосочетаний для заполнения этих пропусков, обозначенные цифрами 1 — 3. Внимательно прочитайте их.
Вы услышите диалог. Для каждого предложения A — E выберите слово или словосочетание, соответствующее содержанию диалога. К каждому пропуску подходит только одно слово или словосочетание. Вы услышите запись дважды. При повторном прослушивании проверьте себя. У Вас есть 45 секунд, чтобы ознакомиться с предложениями.
Воспользуйтесь плеером, чтобы прослушать запись.

 
А. Annabel’s father is going to _________.
1. work 2. the supermarket 3. the bookstore
 
B. Annabel wants to read _________.
1. Percy Jackson 2. The Hunger Games 3. Harry Potter
 
C. On her birthday, Annabel’s mother will go to _________.
1. a concert 2. the theatre 3. a museum
 
D. Annabel’s mother loves _________.
1. drawing 2. singing 3. reading
 
E. Annabel and her father are NOT going to buy _________.
1. books 2. pencils 3. CDs
 
Запишите в таблицу выбранные цифры под соответствующими буквами.
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Пояснение.
Показать текст

A. I’m going to the book store, Annabel. 3
B. I was thinking about The Hunger Games, actually. 2
C. How about theatre tickets for us all? We could all watch a musical with her. 2
D. we could also buy her some nice paints and pencils for drawing. She loves drawing.1
E. they sell really good pencils and paints at our book store! So come on! 3
 
Ответ: 32213

Ваш ответ: . Правильный ответ: 32213
Дополнительно
↑ Задание 4 № 4 тип 4 (решено неверно или не решено)
Установите соответствие между текстами A — E и их темами, выбрав тему 1 — 6 из списка. Используйте каждую тему только один раз. В задании одна тема лишняя.
 
This text deals with …
1) the country’s strange tradition.
2) the country’s geography.
3) the country’s famous people.
4) the country’s history.
5) the country’s traditional food.
6) the country’s animals.
 
A) Iceland is a country quite unique in many ways. Located in the Arctic Region of Northern Europe, it is covered by ice, more than 20 active volcanos, glaciers and geysers. Even though located in the north, Iceland is warmed by the Gulf Stream, and so the winter temperatures seldom drop below minus 10 degrees Centigrade,
while in the summer they stay around plus 10.
B) Iceland was discovered by the Vikings in the 870s AD. Scandinavian people from Norway, Denmark and Sweden were the first to settle in Iceland. Soon they were followed by the Celts who came over from Scotland and Ireland. For centuries Iceland was part of some other kingdom — Norway or Denmark, and only in 1918 did it become an independent country.
C) When Iceland was first discovered by the Vikings, there was only one land mammal living there — the Arctic fox. Europeans brought sheep, chickens, horses and goats to Iceland. Now there are also mice, rats, rabbits and reindeer. Sometimes, polar bears visit Iceland. They usually arrive from Greenland on icebergs!
D) Icelanders don’t have family names or surnames. Instead of the family name they use their father’s name to which they add “sdottir” — “daughter of” or “sson” — “son of”. So if the father is called Jon, and his daughter’s given name is Eva, her full name would be Eva Jonsdottir. If Jon has a son whose name is Adam, it would be Adam Jonsson.
E) There are at least two people from Iceland who are very well-known around the world. The first one of them is Leif Erikson who was the first European explorer to discover America — long before Christopher Columbus! The other one is Björk, a popular singer and actress of today.
 
Запишите в таблицу выбранные цифры под соответствующими буквами.
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Пояснение.
A. Located in the Arctic Region of Northern Europe, it is covered by ice, more than 20 active volcanos, glaciers and geysers.
B. Iceland was discovered by the Vikings in the 870s AD. Scandinavian people from Norway, Denmark and Sweden were the first to settle in Iceland.
C. there was only one land mammal living there — the Arctic fox. Europeans brought sheep, chickens, horses and goats to Iceland.
D. Icelanders don’t have family names or surnames. Instead of the family name they use their father’s name to which they add “sdottir” — “daughter of” or “sson” — “son of”.
E. The first one of them is Leif Erikson who was the first European explorer to discover America — long before Christopher Columbus! The other one is Björk, a popular singer and actress of today.
 
Ответ: 24613

Ваш ответ: . Правильный ответ: 24613
Дополнительно
↑ Задание 5 №  тип 5 (решено неверно или не решено)
Прочитайте текст и вставьте вместо каждого пропуска нужную грамматическую форму, выбрав её из четырёх предложенных вариантов.
 
Cats
Why do people keep cats as pets? Cat owners A____ that cats make excellent friends. Cats B____ playful, clever and loving animals. They can also be left alone for several days at a time. This is why millions of people today choose to share C____ homes with cats. People have kept cats as pets for the longest time. Ancient Egyptians D____ keeping cats as pets more than 4,000 years ago. But first they liked cats because wild cats were keeping animals like E____ and rats away from their food. Ancient Egyptians also took cats with them on hunting trips.
 
A 1) are known  2) knows 3) know 4) known
B 1) are 2) have been 3) were 4) was
C 1) there’s 2) there 3) theirs 4) their
D 1) begin 2) began 3) were beginning 4) begun
E 1) mouse 2) mouse’s 3) mice 4) mice’s
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Пояснение.
A. Know — 3 (по контексту требуется использование Present Simple).
B. Are — 1 (другие варианты не используются в данном контексте).
C. Their — 4 (по контексту требуется использование притяжательного местоимения).
D. Began — 2 (по контексту требуется использование Past Simple).
E. Mice — 3 ( по контексту требуется использование формы множественного числа существительного).
 
Ответ: 31423.

Ваш ответ: . Правильный ответ: 31423
Дополнительно
[bookmark: _GoBack]↑ Задание 6 №  тип 6 (решено неверно или не решено)
Прочитайте текст и вставьте вместо каждого пропуска подходящее слово, выбрав его из списка. Два слова в списке лишние.
 
Novy Arbat
If you look at old maps of Moscow, you will bе surprisеd not to find somе of thе biggеst strееts of today’s capital. Onе of A____ strееts is Novy Arbat. This strееt is locatеd in thе vеry cеntrе of Moscow and connеcts Vozdvizhenka Street and Kutuzovsky Avenue. The first plans to build Novy Arbat appeared in 1935 but B____ of the Great Patriotic War these plans were not carried out until the mid-1960s. Architects designed 9 tall modern buildings for the street. Many old buildings were destroyed. But it was decided to leave a very small church, which is still standing C____ to one of the tall modern buildings. The idea was to show the victory of technological progress. It is D____ that the church looks tiny compared to the modern building. But it E____ looks so much more beautiful!
 
Список слов:
1. true
2. because
3. such
4. near
5. also
6. next
7. only
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Пояснение.
A — 3. Such streets — такие улицы.
B — 2. Because of — из-за.
C — 6. Next to — около.
D — 1. It is true that — правда, что.
E — 5. But it also looks —но это также выглядит.
 
Ответ: 32615.

Ваш ответ: . Правильный ответ: 32615
Дополнительно
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